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Equation (52) on p. 318 should read

T µκλ = Θµκλ +
1

2
∂ν

(
xκ
(
Σνµλ + Σµλν − Σλνµ

)
− xλ

(
Σνµκ + Σµκν − Σκνµ

))
+

1

n− 1

((
xκηµλ − xληµκ

)
2f −

(
xκ∂ λ − xλ∂ κ

)
∂ µf

)
. (52)

The fifth equation on p. 352 should read

2∇µ∇ν α
µν = [∇µ,∇ν ]α

µν = Rµ
κµν α

κν + Rν
κµν α

µκ = 0 .

On p. 362, line 5 from bottom, the word “current” should be replaced by the
words “energy-momentum tensor”.
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The last four lines of the first equation on p. 364 should read
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Equation (259) on p. 370 should read
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Equation (261) on p. 370 should read

δ−ea
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b e
b
µ . (261)

On p. 371, line 6, the expression “e∗(LM)” should be replaced by the expres-
sion “e∗(V (LM))”.

The last term in the fifth line of the last equation on p. 382 should read

ψ̄ γµ δωΓµχ .

Equation (296) on p. 382 should read
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